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Test 2

No books are cell phones are allowed. You must show all your work, the correct answer is worth
1 mark, the remaining marks are given for the work. If you need more space for your answer use
the back of the page.

Question 1. (I mark each) Evaluate each\of the following to 2 decimal places:
1. -5 = -25.292
2. 039942 = ©- B
3. (-22)% = |. o0
4. In3.224 = (. 1%
5. (%)3: (Q o |
Question 2. (I mark) 37% of what number is 127.65.
D3Fyx = 127 68 = A= 215

~ Question 3. (3 mark) Use the LCD to solve for x.
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Question 4. (4 marks) Chris works 40 hours per week and he makes $10.25 per hour. He also gets

7% commission on all sales he makes over his quota of $3600.00. If Chris makes $1694.00 this
week how much did he sell? ‘
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Question 5. (3 marks) Slmpllfy the following expressing your final answer with positive exponents

only:
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Question 6. (3 marks) Calculate the property tax on an apartment building in Ottawa that has been

assessed at $1 325 000 if the mill rate is 19.631.
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Question 7. ( 3 marks ) Sfmpl’ify the following (round to 2 decimal places)
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Question 8. (3 mark) Evaluate the following to two decimal places
- e e ]
ln<75> _lnF - lmne? = a5
e
| W+ -5
= -3.05
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Question 9. (3 mark) An invoice of $6315 with terms 7/15 n/30 E.O.M. was dated for October
27th and was received on October 29. If the invoice is paid on November 13nd how much should
bepaid? UpveMerl % 15 wITHIN T ISCouT 2 L0 ‘
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Question 10. (3 mark) Simplify the following:
(20-5)(x=T)~4x=3)(x+6) = (Do "-5x ~1tx +35) -4 ( x -3 #@X-/g>

( 2% —1anrrs)~ 4 (xF £ 15 )
A ? —lan #3s —dy - -12x + 7L
= At - B+ loF

Question 11. (I marks)
Express 476 = 4—019—6 the following in logarithm:
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Question 12. (3 marks)

The Agrarian bike shop originally sells Shimano Ultegra bike cranks for $523.36. They do not sell
* very well so they mark them down to $434.39. What is the rate of markdown?

WAL KOO = 573 .36 -434.39= 8697
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Question 13. (5 marks)

Tech Town buys computer monitors for $175 less 12%, 9%, and 5.5%. Expenses are 31% of the

regular selling price and they want to make a profit of 22% of the regular selling price. What is the
regular selling price? The store has a sale where they sells the monitors at a 25% discount on the
regular selling price. What is the operating loss or profit realized on the sale of the monitors.
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Question 14. (2 marks) |
$3235 was invested for 11 months in a simple interest scheme with an interest rate of 5.6% p.a..
How much interest is earned? ’

et = %23‘5(&'@5@%3 (%>

Question 15. (3 marks)
How many weeks must $5677 be invested to earn $278.39 interest when invested at a rate of 7.5%
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Questlon 16. (2 marks)
Book shelves are listed at $1475 less 12%. The price is reduce by a second discount to $1207.14.

What is the additional rate of discount?
20304 = ((mo ) (l~dy) /478
=dz = 120209 543
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Question 17. (2 marks)
What is the present value of a debt of $277, 154 days before it is due at an interest rate of 9%?
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Question 18. (2 marks)
What is the future value of a debt of $2378.87 in 43 months at an interest rate of 9. 8%

S= REIxt) = A3zx. &7+ [+ 0. 04k («-ta U
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Question 19. (5 marks)

Jim financed a carbon fiber road bike and has 3 payments of $327 each remaining. One payment
was due 3 month ago, one is due in 2 months, one is due in 7 months. If Jim wants to pay off the -
remaining balance for the bike in one payment 3 months from now what is the payment that he has
to make given that interest is 6% ? (Use the focal date of 3 months from now)
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CAMEST = 334,30 x328 .64 +220.59



